H & 0l & AHS B Ml A

SXIH
EIPENEEES
IEMEDE (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZH 1t 69,617,426 60,085,940 9,531,486
= 50,805,929
[ 885,060
Al 6,614,436
Ea 11,312,001
=D ZdE2E 52,019,352 44,610,306 7,409,046
= 46,669,540
Al 3,748,464
o 1,601,348
T2 51,889,852 44,480,806 7,409,046
= 46,669,540
Al 3,618,964
Ea 1,601,348
JIZdEEY U2 28 21,600 800 20,800
201 er2 3| 13,800 800 13,000
01 AtR2te|HI 13,200 800 12,400
O=g=¢g 1,200
— MBS RSB B A gt
100,000 *6& »23] 1,200
ONBIZETO HAX LEXAR X2 2
A= 1,000,000 *1CH* 12 12,000
02 S3=gl 600 0 600
OAI 2830 ettt 2 ZAE U F
&l 50,000 *1CH* 12 600
308 AHXIHMSO0IA 7,800 0 7,800
13 SI[2S0He 4 A AS A 7,800 0 7,800
ORI ZMBBESTY| 201D MU 4
=31 1,300,000 x624 7,800
HAZS0 356,470,000 28,066,666 7,403,334
= 31,923,000
Al 2,482,900
T 1,064,100
301 LEIE NS 35,470,000 28,066,666 7,403,334
= 31,923,000
Al 2,482,900
o 1,064,100
01 Al 2E A S(SRNEXMHE) 35,470,000 28,066,666 7,403,334
OgetragAt 4ASH X2
35,470,000,000& 356,470,000
= 31,923,000
Al 2,482,900
s 1,064,100
FHSN 16,040,933 16,069,352 A18,419
= 14,436,840




A SXNEH
Mo 20| EMBEY
ERl: JIEZMEEE EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,122,865
s 481,228
301 EtE NS 15,845,933 16,059,352 213,419
= 14,261,340
Al 1,109,215
[Ea 475,378
01 AR 2EHSHS(RNEXRTH) 15,845,933 16,059,352 213,419
Ogxt=0! N 15,845,933,000& 15,845,933
= 14,261,340
Al 1,109,215
s 475,378
403 AXIEHHSAH=201H 195,000 0 195,000
= 175,500
Al 13,650
s 5,850
02 SVI2S0 U H=E 2 EAIEI 195,000 0 195,000
Ox=82X20 XI& 195,000,000 195,000
= 175,500
Al 13,650
[Ea 5,850
HAE S0 (LS L) 188,555 188,555 0
= 169,700
Al 13,199
Ea 5,656
301 EtE NS 188,555 188,555 0
= 169,700
Al 13,199
= 5,65
01 Al EE A ZS(2DEXMR) 188,555 188,555 0
Odit=o At HMEMSH N
188,555,000 188,555
= 169,700
Al 13,199
= 5,65
YJRLR25H 140,000 140,000 0
= 140,000
301 LEIE NS 140,000 140,000 0
= 140,000
01 Al 2E A S(FRDEXMA) 140,000 140,000 0
OZRY==2sH N 140,000,000 140,000
= 140,000
wFSH A 28,164 24,833 3,331
308 AXIHSOIA 28,164 24,833 3,331




A SAE M
B 20| EMBIE
Gl JzMEEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
08 W=J| 202 28,164 24,833 3,331
Ou=sg0 N 28,164,000 28,164
Sgael g 29 600 600
201 Zet=Ehl 600 600
02 S3=gl 600 600
O=WNzHFHSA 22 &8 #HE=E
2= 50,000 *1CH* 12 600
MAs=p S8 X2 129,500 129,500 0
Al 129,500
AHISEXNZAIE 4 1 SH| 111,500 111,500 0
Al 111,500
301 EtE NS 111,500 111,500 0
Al 111,500
02 ARSI S2E A S(FIANS, XLETHE) 111,500 111,500 0
OXHH S| 111,500,000 111,500
Al 111,500
ABISEXNZAIE SSUEYI 18,000 18,000 0
Al 18,000
301 LEtE NS 18,000 18,000 0
Al 18,000
02 ARSI 2E A S(FANS, XLETHE) 18,000 18,000 0
OS] 18,000,000 18,000
Al 18,000
FHAHSAE Jlgtxd 3,352,483 3,211,467 141,016
= 10,000
[ 869,545
Al 336,918
o 2,136,020
FAAHSAEH 908,728 1,115,519 A206,791
= 10,000
= 88,428
Al 32,286
s 778,014
AMEISXAF MM K& 393,000 354,000 39,000
301 EtE NS 393,000 354,000 39,000
02 AR 2E A S(FIANS, XLETHE) 393,000 0 393,000
ONBIZXIAL HLIME g
50,0002 *x655E « 12& 393,000
NaSE=SA N2 341,330 328,236 13,094
201 Ler23| 11,520 10,800 720
2 s5=34l 11,520 10,800 720
O=tgli== ssdJIes N
3002 *3, 2004 Ci = 12 11,520
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2A:

SINESES N}

ma: FHoHEX JIHEA
el FHEASKE (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
301 LtENZ 329,810 317,436 12,374
02 MBI 2HEHSFHS(HAANS, XLHE) 329,810 317,436 12,374
O=Wzda2H+2 A HE=H N2 41,470
— XS 100,000 *66 % 6,600
—=, 155 110,000 x317H 34,870
O=D|zde2d a5 +=310{el F| Xl
& 79,400
—=, S5 150,000 »276% 41,400
—ssH 250,000 »152H 38,000
OMASHES =2ALEEE ¥ LUFIIR
22EE N 7,900& %2, 204KICH+ 12 208,940
A2l ML HAINE (2 S0 22l A) 110,535 108,591 1,944
s 88,428
Al 22,107
101 e124d| 110,535 108,591 1,944
= 88,428
Al 22,107
03 BRA(RIH )22 U2+ 73,690 0 73,690
O2lggac|AL 12
2,575,000 «2F ~ 128 61,800
[ 49,440
Al 12,360
Olzsn AL HERE=
495,4103 x2H~ 128 11,890
= 9,512
Al 2,378
04 JIZtNZ2 2N S+ 36,845 108,591 NT1,746
Oz cIA Q2
2,575,000 128 30,900
[ 24,720
Al 6,180
O2zsdcA HERE=
495,4103+ 122 5,945
= 4,7%
Al 1,189
NASE ol WsHl A = X 6,939 6,939 0
Al 6,939
101 @124H| 6,105 6,105 0
Al 6,105
04 JIRHNZZ2XSE S 6,105 6,105 0
OMASE ot W=H AFE 8= X2 6,105
—QI2A4H| ,035,000& x3E 12 6,105
Al 6,105
201 2= 834 834 0




2A:

SINESES N}

M FOHEXR JIPEN
=t FHUASKE (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 834
01 ARzl 834 834 0
OMASE stM mSH AE J4 X
2780002132+ 124 834
Al 834
AR BRI E S MRS (Sl 22022l AL (DH2HI) 29,436 29,435 1
101 Q1244 29,436 29,435 1
03 LA (PIHL)2EXE S 19,624 0 19,624
OS2 20 22IAt MR (F=IH2HI) 19,624
—gEA0I2 1,108,00021x224 23] 4,43
— Dt A 1,050,00021 224 *15] 2,100
—AlCHHI 125,002 x224 % 123 3,000
— DS 125,00024x224* 123 3,000
IR 2,216, 000! *160%+2% 7,092
M IRRIZEISE S 9,812 29,435 19,623
Qo220 22IAt MRIpEHI(FIH2HI) 9,812
—HEAI2 1,108,00021% 124235 2,216
— iDL A 1,050,0002 *1Z*13] 1,050
—AlCHHI 125,000 %1% 123 1,500
— D= 125,00021x124%123] 1,500
I 2,216, 000! * 1600+ 124 3,546
MHHPSEX SEHLAIAL 283 283
201 Lpre | 288 288
2 2zl 288 283
ONMHNTESH 2IH)| SMe3
24,0002+ 122 268
OIAMHI XIRIAES 4,800 0 4,800
2 2,400
Al 960
2 1,440
301 LPrE X2 4,800 0 4,800
2 2,400
Al 960
z 1,440
01 ALBIB RN 2(2DBEHL) 4,800 0 4,800
OOlAtHI XIZAFE 400,00021 % 124 CH 4,800
=2 2,400
Al 960
z 1,440
ZHOHQ! ZEHIHEALY 15,200 0 15,200
=2 7,600
Al 2,280
z 5,320




2A:

SINESES N}

ma: FHoHEX JIHEA
=t FHUASKE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
402 QI X201 ™ 15,200 0 15,200
= 7,600
Al 2,280
= 5,320
03 Q12+ ErALS I 15,200 0 15,200
OZOQIFEOIE ALY
3,800,000 *4All CH 15,200
= 7,600
Al 2,280
= 5,320
MNII=XAIES &5 X3 7,200 0 7,200
307 2I2+01A 7,200 7,200
02 QIZtAAAIEER 7,200 7,200
OAISISXIAL MRS L FS2SHALY K
& 7,200,000& 7,200
NS Atel =X 2,443,755 2,095,948 347,807
= 781,117
Al 304,632
= 1,358,006
MISXNESSXE M 8 4,050 4,050 0
201 B2 AY| 1,800 1,800
01 At=R2teld| 1,800 1,800
OgErz23| 1,800
—OXE XDAREHAHE A S 14
12,0003 *150& 1,800
203 AR F=&lh| 2,250 2,250
03 A FRIHRFAIY| 2,250 2,250
O=XEHI AIMLRFEIY|
2,250,000& 2,250
KA AHIA EXAIY 29 2,500 2,500 0
s 1,750
Al 375
= 375
201 L2 AH| 2,500 2,500 0
= 1,750
Al 375
= 375
01 AtR22elt] 2,500 2,500 0
OXNSAIZ MEIA EXAIY 23|
2,500,000& 2,500
= 1,750
Al 375
= 375
KIS AFSIAHIA SXAFS (RISGIHES) 1,091,836 1,036,518 55,318




2A:

SINESES N}

ma: FHoHEXR JIHEA
=Rl XSARI =K EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 764,286
Al 163,775
s 163,775
308 AtXIEMSOIE 1,091,836 1,036,518 55,318
[ 764,286
Al 163,775
Ea 163,775
183 S| 2SO ZB&HAEAIE 1,091,836 1,036,518 55,318
OXIZIHLE HIRMAIS X2
1,001,836,000& 1,091,836
[ 764,286
Al 163,775
Ea 163,775
ARISXAIE Al SRRE 21248] X3 158,400 157,080 1,320
301 EetE NS 158,400 157,080 1,320
0 M=SRREEYS 158,400 157,080 1,320
OARISIIAIE AM=22F SAHl XIE
176,000 x75 « 122 158,400
ANZERHE X2 (HEAY) 874,812 859,224 15,588
301 EtE NS 874,812 859,224 15,588
0 AR=R22a= 874,812 859,224 16,588
OAt2Z2HE XI& 72,901,000& ~12& 874,812
ARISXNEREL AlRlSRRF 21248 XA 2,112 3,696 21,584
301 eEtE N = 2,112 3,6%6 A1,584
0 AMSRREES 2,112 3,69 A1,584
OAZISTIEREX AIRISR2F SAlHl X
el 176,000& x 12+ 123 2,112
LY SE =S AIEAME 284,500 0 284,500
Al 137,250
= 147,250
201 er23 | 9,220 0 9,220
Al 4,610
= 4,610
01 At2teltl 9,220 0 9,220
OR4He Se=38 234l & 24|
9,220,000& 9,220
Al 4,610
o 4,610
301 22N = 134,500 0 134,500
Al 62,250
T 72,250
02 N 2EHSFHS(HAANS, XLHE) 134,500 0 134,500
OR4HE SHES (AT X
124,500,000 124,500
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2A:

X XH -
o=

SINESES N}
FSAHSXE Xy

=Rl XSARI =K EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 62,250
s 62,250
OJ1dg se== g X3
10,000,000 10,000
307 @I2t0| & 140,780 0 140,780
Al 70,390
o 70,390
11 AMRISXAEEES 140,780 0 140,780
ORUY Se=E= 22 Al
140,780,000 140,780
Al 70,390
= 70,390
U OSSN E A 21,545 28,880 NT7,335
= 15,081
Al 3,232
= 3,232
308 XXM SOl 21,545 28,880 AT7,335
= 15,081
Al 3,232
[Ea 3,232
13 S [2S0tHet 4 A AS A 21,545 28,880 AT,335
OXSIHLE HtSHALS I
21,545,000 21,545
= 15,081
Al 3,232
[Ea 3,232
et N RISAE &5 X 4,000 4,000
307 glztol & 4,000 4,000
02 2B YA E X 4,000 4,000
OJ Izt HASAE HESAM 85 X
el 4,000,000& 4,000
=)t 28 &l € A& 5,970,776 4,318,356 1,662,420
Al 860,400
s 5,110,376
Lt PSON L] 5,970,776 4,318,3% 1,662,420
Al 860,400
= 5,110,376
SE32 & SN X 26,336 31,056 N4, T20
201 er2 3| 17,336 19,056 A1,720
01 AtR2telHl 9,936 11,656 A1,720
Odgt+==H| 7,136
—2&3& IV =Al2eldl
1,056,000& 1,056




INE=ES I}
JEE 22 E X
ezl EERE)
M- B SRASH) - HRAR - B2 of v e HIDE2
—IRSA HET
120,000 = 144 1,680
—2&23& a2 -8
300,000& * 128 3,600
—2E2H sl 2 Y X2
100,000 +82] 800
Oogxt= 2,800
—E2SARE X 700,000 =4CH 2,800
02 S3=gHl 7,400 7,400 0
OsE2= & HA 5,000
—223% 332= 5,000,000 5,000
OAlZ &I Xl 2,400
—J¥3Z B&2d A2+ 2|
2,400,000& 2,400
401 AlZHIZ SO 9,000 8,000 1,000
01 A28l 9,000 8,000 1,000
SE2 AEE
9,000,000 9,000
=2HH & 33 X2 4,686,500 3,216,900 1,469,600
301 EtE NS 4,499,900 3,020,300 1,479,600
02 MBI 2HEHSFHS(HAANS, XLHE) 4,489,600 0 4,489,600
06.25 & FE&EN S+ 2,544,000
—6.25 FHE0 =<
200,000« 136 122 326,400
—2d F&gu =&
200,0002+x914F «12& 2,193,600
—ANg==2 200,0003x120& * 14 24,000
OEZ Zl=&d 2 NERZ3 1,862,000
—22g0=¢
100,000 *1,200 122 1,548,000
—ANAZ=2 200,000 20+ 1= 4,000
(OF=FSES= NI EINE
50,0003 x606% * 122 363,600
O=t"skt & = 280 43N3
30,000,000 30,000
11 AALAHIXIES 10,300 10,300 0
OEsHH d&X =d 10,300
—dEZERS 3,000,000& 3,000
—&E2Z01Y 4,700,000& 4,700
— 232X 2,600,000& 2,600
307 @120l & 186,600 163,600 23,000
02 QB AANEER 108,440 93,320 16,120
O=&HH AR 85,440
—&olz33l 6,700,000& 6.700
—HEZERS 7,000,000& 7,000
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SH: =NEMY
My 20} P& 22 L N
=?e: 2E2dEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—d=zZ01¥elg 7,000,000& 7,000
— RS2 A2 10,800,000 10,800
—JEMNELE 24,500,000 24,500
—6. 258 R[S A2 11,000,000& 11,000
= A= RAE=FPNE=] 3,500,000& 3,500
—S+URRISAE 3,110,000& 3,110
—&=3 4,330,000 4,330
—ME=ols 7,500,000 7,500
O2&HH dAX =dl(=2) 23,000
—&olz33l 13,000,000 13,000
= A= ROE=FPNE=] 10,000,000 10,000
03 PIZAHHNEE 22X 73,160 65,280 7,880
O=E&HH 28X 73,160
—&0lz33l 8,400,000 8,400
—dE2ERED 3,000,000& 3,000
—&ES2Z0122ls 3,000,000& 3,000
— RS2 A2 4,500,000 4,500
—IZNELE 10,500,000& 10,500
—6. 258 R[S 21,000,000 21,000
A= ROE=FSPNE=] 4,200,000 4,200
—SExgER3SAI 7,890,000& 7,890
—&=3 6,670,000 6,670
— etz olsl 4,000,000 4,000
04 QIZHHAIAIS E X 5,000 5,000 0
OLictAtgtiE U= 5,000,000& 5,000
FLA BEKREL o= K& 792,000 792,000 0
Al 792,000
301 22N = 792,000 792,000 0
Al 792,000
02 AR 2HHLFS(HAAS, XNLHE) 792,000 0 792,000
ORUHAl BRSTT Hol+Y
100,000 6602 * 122 792,000
Al 792,000
22 A 367,540 210,000 147,540
401 AIEHIX R0 357,540 210,000 147,540
01 A28l 367,540 210,000 147,540
O=E&32 A 357,540,000 367,540
SAA EEE0E K& 68,400 68,400 0
Al 68,400
301 LEetE N = 68,400 68,400 0
Al 68,400
02 AR 2EH LGS (HAAS, NLWE) 68,400 0 68,400
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SH: =NEMY
M ) EE 22 & X3
=?e: 2E2dEE (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SETN TR,
30,0002 *190H 122 68,400
Al 68,400
I =EH2sAMATE 83 K2 40,000 0 40,000
307 2I2+01A 40,000 40,000
02 QIRHE L&A B X 40,000 40,000
OIIBSYUSSA HT MY HE L 52 ¥
2F 40,000,000 40,000
SeAteI=XIAIE XA 3,420,508 3,194,600 225,908
Al 1,252,691
= 2,167,817
AtSI S X222 3,420,508 3,194,600 225,908
Al 1,252,691
= 2,167,817
CAZRIBY YOI SEAZEXH) 668,290 668,290 0
Al 668,290
3N HES 668,290 668,290 0
Al 668,290
01 SAt- SHINNZ=F 668,290 668,290 0
OZAZRIBHOIEZSEAESAZ) MEZ
668,290,0002 668,290
Al 668,290
SAZRSYH 2 OIYSEAMEISXZ) (FIt2H]) 640,711 645,459 N4, 748
39 HES 620,411 639,059 A 18,648
01 SAt- SHINNZ=F 620,411 639,059 A 18,648
OZAZEIBHOIESEAE SR 2)HES
620,411,000& 620,411
404 SAISHZ2NES 20,300 6,400 13,900
01 BAt - SHA2HEZ 20,300 6,400 13,900
OSAIZ2ISHOIZ SIS =) EE2
20,300,000& 20,300
CAZESY 2L (LESSEEAISI SRR 710,251 710,251 0
Al 584,401
i 125,850
39 HES 710,251 710,251 0
Al 584,401
= 125,850
01 SAt- SHINNZ=F 710,251 710,251 0
O AZe| B (CIH=SEHERAIS SR &
£2 710,251,000& 710,251
Al 584,401
= 125,850
CAZE Y 2E(CIASSISEAIEISXIZ) (FI124]) 1,123,219 1,170,600 47,381
3 HES 1,076,404 1,146,012 269,608
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M =X
HEl: ZSAMBISRIAIL X2
o9l Alsl=xeee

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 SAL- SHEYTES 1,076,404 1,146,012 69,608
Oz AlZe| SIS BE ARSI 2) &
£ 1,076,404,000& 1,076,404
404 SAISEHI=EES 46,815 24,588 22,227
01 SAk- SEHIHEHES 46,815 24,588 22,227
O A BEHTIA=EE A =X2) &
£ 46,815,000 46,815
SEARIZEX2 AIE e At 278,037 0 278,037
401 AlEHIZ SO 278,037 278,037
01 Al&HI 258,037 258,037
OJIESSAe SN2 =& wWHl A
258,037,000 258,037
02 Zeltl 20,000 0 20,000
OJIEBSEA SN2 =& WXl At
20,000,000 20,000
nE s 2 oy 4,773,075 4,644,847 128,228
= 4,126,389
[ 15,515
Al 415,963
Ea 215,208
g X2 4,773,075 4,644,847 128,228
= 4,126,389
= 15,515
Al 415,963
o 215,208
A2 2 A 3,039,14 3,145,389 106,235
= 2,706,499
Al 210,505
o 122,150
101 21AH| 31,933 31,157 776
04 JIZtN2Z2XNSE+ 31,933 31,157 776
OXE &g AL Q124H] 31,933
—QI2Y 90,2643 x1H+312& 28,163
— & HEE 28,163,000& * 1% 282
—UEEE 28,163,0002 *1.75% 493
—=0=EE 28,163,000 *4. 5% 1,268
—=0ALEE 28,163,000 *3.545% 999
—LEIIRAEEH 999,000 *12.81% 128
—=SAELNE 300,000 x12H 13 300
—g&4d0=s 300,000& x1H*13] 300
301 LEtE NS 3,007,221 3,114,232 A107,011
= 2,706,499
Al 210,505




2A:

MM DE SX Y O
Sl AE X (St ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[ia 90,217
01 Al EE A 6lIZ (2 REXT 3,007,221 3,114,232 A107,011
OXg22 A& 3,007,221,000& 3,007,221
= 2,706,499
Al 210,505
= 90,217
UNE=PAE-Full=RONEE] 447,007 425,003 22,004
= 312,905
Al 93,871
i 40,231
307 212t01 & 447,007 425,003 22,004
= 312,905
Al 93,871
i 40,231
10 MEISXAIEHE2EHIEX 447,007 425,003 22,004
OXGXEHEH 298| 447,007,000& 447,007
= 312,905
Al 93,871
[ias 40,231
KHAtedl 2tel 31,476 30,707 769
= 22,033
Al 6,610
s 2,833
307 QIztol ™ 31,476 30,707 769
= 22,033
Al 6,610
s 2,833
10 AlRISXAIZEHE 22X 31,476 30,707 769
OXre Atefl el 31,476,000 31,476
= 22,033
Al 6,610
= 2,833
NS NEAE Na=K+g A2 27,71 %,577 8,865
Al 19,638
s 8,074
307 QIztol ™ 27,712 36,577 A8,865
Al 19,638
i 8,074
10 Al ZXAIEHE 22X 27,712 36,577 A\8,865
ONOINSHE NR=X 48
27,712,000 27,712
Al 19,638
= 8,074




A SXNEH
Hu: I8 2% W O4F
= = X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JaREE S22 X2 A 22,165 39,074 16,909
= 15,515
Al 3,325
[Ea 3,325
308 XXM SOIA 22,165 39,074 216,909
= 16,515
Al 3,325
s 3,325
183 SIS B XA AIE 22,165 39,074 16,909
OJAttE SE2E0IAY K&
22,165,000 22,165
= 16,515
Al 3,325
o 3,325
ZEsEUeTSMAE =S X2 1,205,561 968,097 237,464
= 1,084,952
Al 82,014
o 38,595
307 @120l & 1,205,561 968,097 237,464
= 1,084,952
Al 82,014
[Ea 38,59
1 AMEISXAEEXS 1,205,561 968,097 237,464
O22sY=+I TS+ (5123
SSEI) 16,000,000 16,000
= 14,348
Al 1,156
o 4%
O=2zs=aEUer2 N2+ (3 YI|
SSEII) 60,300,000 60,300
= 54,270
Al 4,221
Ea 1,809
O=2zs=aEUerS A2 (LI
ssT) 10,000,000& 10,000
= 9,000
Al 700
[Ea 300
O=2zs=aUer2 s (s
YIISEH) 16,000,000 16,000
2 14,400
Al 1,120
o 480
O=2zs=aUers e (FEN
=2z 15,000,000 15,000




M SXE MY

Hu: I8 2% W O4F
= = X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 13,500
Al 1,050
2 450
OoRSAASHTNAL SN (SIYT
= EH) 113,806,000 113,806
= 102,425
Al 7,967
2 3,414
O22seY=23 N0 e+ (SR
2 EHT) 74,219,000 74,219
= 66,797
Al 5,19
2 2,207
OZRSAY=LI A SLS NI (HHEL
SV ES ER ST
753,050,000 753,050
= 677,745
Al 50,302
[Ea 25,003
O2zssaEAssSMdE+SXE (FEH
SV ES ER NS
147,186,000 147,186
= 132,467
Al 10,303
[Ea 4,416
AH2IBJH(SXEHL) 81,232 106,364 N25,132
J23HI(SXE 2D 81,232 106,364 N25,132
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